
4. Given this graph of the function f(x):

Find:
a. f(—4) =

e. x when f(x) =2

K f(O) =

f. x when f(x) = 0

d. f(.5)

5. Find an equation of a linear function given h( 1) 6 and h(4) —3.

HINT: Think “What has been given?” “What do I need to write a linear equation?”

6. Determine the maximum result if f(x) = —3x2 + 24x is a quadratic that opens down.
HINT: The maximum occurs haay between the x-intercepts.
THINK: How do Ifind the intercepts? How do Ifind the max?
Challenge: Use function notation to find your nswer.
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c. f(3)


